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CHAPTER - ACCOUNTS FOR PARTNERSHIP FIRMS – FUNDAMENTAL

Interest on Partner’s Drawings
Meaning : The interest on drawings is an income for the firm. The Interest will be charged if the same has been specifically provided in the partnership agreement.
Accounting Treatment : Interest on drawings is credited in profit and loss appropriation A/c as it is an item of income for the firm and debited in partner’s capital / current A/c as it decreases the capital.

Methods of Calculating Interest on Drawings
The drawings are usually made by partners at regular intervals. Thus, the interest on drawings is calculated with reference to time period involved. It can be worked out by any one of the following methods:
1) Simple Method 
2) Average Period method 
3) Average Rate of  Interest method 
4) Product Method
5) Monthly Drawings Method 
6) Quarterly Drawings method 
7) Half-yearly Drawings Method.

1) Simple Method: Under this method, Interest on drawings is calculated on separate amount from the date of drawings to date of closing date of accounts. Thus interest on each amount of drawing will be calculated by using following formula :
Interest on Drawings = Amount of Drawings × Rate × Months
							     100          12
2) Average Period Method : If the dates of drawings are not given in the question, Interest on drawings can be calculated on the average basis on the total amount of drawings made during the accounting period for half of the accounting period (i.e. for 6 months, if the accounting period is one year ; for 3 months, if the accounting period is 6 months and so on ). It is based on the assumption that the amounts were drawn evenly (i.e. equally) throughout the accounting period.
Interest on Drawing = Total Drawings × Rate ×   6 
						      100      12
3) Average Rate of Interest Method : Sometimes, the average rate of interest is given in the question, in such a case, it is assumed that the rate of interest is already half on the basis of 6 months. Thus, time should not be considered. If rate of interest is given but per annum is not written then time will not be taken into consideration.
Interest on Drawings = Total Drawings × Average Rate
							  100
4) Product Method : When the dates of drawings and the amount involved are clearly stated, the interest is calculated with the help of the product method. Under this method, each amount of drawings is multiplied by number of days / months (From the date of drawings to date of final accounts) to find out the product and then different products are totalled. Interest is calculated on total products at the rate of interest for one month/ one day. Thus the following formula can be applied to calculated interest :
Interest on Drawings = Total of Products × Rate ×   1    or      1 
						           100       12          365

5) Monthly Drawings Method : If uniform amount is withdrawn each time and the interval between two withdrawals is also uniform, in such a case interest on drawings can be calculated by monthly drawings method. Under this method, interest is charged on the total amount of drawing during the accounting period for a period which is the average of longest period ( i.e. the period involved in the first withdrawal ) and the shortest period (i.e. the period involved in the last withdrawal) involved in the various withdrawals. In that case amount of drawing is uniform and period between each drawing is also uniform.
Formula for calculating average period is as follows :
Time left after first drawing + Time left after last drawing = Period
				          2
a) When Drawings are made during the year ( for the period of 12 months ) :
i. When drawings are made at the beginning of each month :
In this case, the period for which interest on drawings has to be charged is the average of the longest period i.e. 12 months involved in the first withdrawal and the shortest period i.e. 1 month involved in the last withdrawal i.e., 12 + 1  =  6.5 
								            2
months, therefore, interest should be calculated for 6.5 months on the whole amount of drawings of the year as follows :
Interest = Monthly drawing × 12 ×   Rate  × 6.5
					     100       12
ii. When the Drawings are made at the middle of each month :
In this case interest is calculated for average 6 months as follows:
Interest = Monthly drawing × 12 × Rate ×  6
					   100       12
iii. When the drawings are made at the end of each month :
In this case interest is calculated for average of 5.5 months as follows:
Interest = Monthly drawing × 12 × Rate   ×   5.5
				                100         12
b) When drawings are made during the period of six months :

i. When drawings are made at the beginning of each month :
Interest = Monthly drawing × 6 × Rate ×  3.5   or [6 + 1  = 3.5 months ]
					 100       12             2
ii. When drawings are made at the middle of each month :
Interest = Monthly drawing × 6 × Rate × 3  or  [ 5.5 + .5 = 3 months ]
					  100       12          2   

iii. When drawings are made at the end of each month :
Interest = Monthly drawing × 6 × Rate ×  2.5    or  [ 5 + 0 = 2.5 months ]
					  100       12                2
c) When drawings are made during the period of 9 months :
i. When drawings are made in the beginning of each month :
Interest = Monthly drawing × 9 ×    Rate ×   5   or   [ 9 + 1 = 5 month ]
					     100       12              2
ii. When drawings are made at the middle of each month :
Interest = Monthly drawing × 9 ×   Rate ×    4.5   or   [  8.5 + .5 = 4.5 months ]
					     100        12                   2
iii. When drawings are made at the end of each month :
Interest = Monthly drawing × 9 ×   Rate ×    4   or    [ 8 + 0 = 4 months ]
					    100        12               2
6) Quarterly Drawings Method : Quarter means three months. If drawings are made each quarter during the accounting period of 12 months, interest will be calculated as follows :
i. If amount is withdrawn in the beginning of each quarter :
Interest = Quarterly drawing × 4 × Rate ×   7.5   or    [ 12 + 3 = 7.5 months ]
					   100         12                 2
ii. If the amount is withdrawn in the middle of each quarter :
Interest = Quarterly drawing × 4 ×  Rate  ×   6    or   [ 10.5 + 1.5 = 6 months ]
					       100        12                   2
iii. If the amount is withdrawn at the end of each quarter :
Interest = Quarterly drawing × 4 ×  Rate  ×  4.5   or   [ 9 + 0 = 4.5 months ]
					       100        12                2
7) Half yearly Drawings Method : If drawings are made each half yearly during the accounting period of 12 months, interest will be calculated as follows :
i. If the amount is withdrawn in the beginning of each half year :
Interest = Half yearly drawing  ×  2  ×  Rate  ×   6    or   [ 6 + 6 = 6 months ]
					         100        12               2
ii. If the amount is withdrawn at the end of each half year :
Interest = Half yearly drawing × 2 × Rate  ×  3    or    [ 6 + 0 = 3 months ]
					     100        12                2
QUESTIONS AND THEIR SOLUTIONS ( ON THE BASIS OF METHODS EXPLAINED ABOVE )

Question1 (Simple Method) A, B and C are partners in a firm. Interest on partners’ drawings will be charged @ 10 % p.a. during the year 2009-10, A withdrew Rs 8,000 on 1.04.2009, B withdrew Rs 10,000 on 31.12.2009 and C withdrew Rs 12,000 on 31.3.2010. Calculate interest on partners’ drawings for the year 2009-10.
Solution
Interest on partners’ drawings = Total drawings ×   Rate   ×  Months
						                 100           12
A’s interest = Rs 8,000 × 10   ×   12 = Rs 800
			      100      12
B’s interest = Rs 10, 000 ×   10   ×   3    =  Rs 250
			          100       12
C’s interest = Rs 12,000 ×   10  ×    0  =  Rs Nil
			         100      12
Question2 (Average Period Method) Abhay and Balwan are partners in a firm who share profits and losses in the ratio of 4 : 3 . As per their partnership agreement, interest on drawings is to be charged @ 8 % p.a. their drawings during the year 2005 were Rs 40,000 and Rs 24,000 respectively. Calculate interest on drawings based on the assumption that the amount withdrawn was evenly throughout the year.
Solution 
Interest on partners drawings = Total drawings × Rate   ×  6
						               100       12
Abhay’s interest = Rs 40,000  ×  8    ×  6  =  Rs 1,600
				    100     12	
Balwan’s interest = Rs 24,000  ×  8    ×  6  =  Rs 960
			  	      100    12	
Question3 (Average rate of interest method) Mamta and Seema are partners shareing profits and losses in the ratio of 2 : 1 . According to partnership agreement, interest is charged on   drawings at an average rate of 5 %. Their drawings during currents year were Rs 36,000 and Rs 48,000 respectively. Calculate interest on drawings.
Solution 
Interest on partner’s drawings = Total drawings × Rate
						                100
Mamta’s interest = Rs 36,000  ×  5   =   Rs 1,800
				     100
Seema’s interest = Rs 48,000  ×    5  = Rs 2,400
				     100

Question4.  (Simple and product method) Charu is a partner in a firm. She withdrew the following amounts during the year ended on 31st March, 2018:-
						Rs
May 1						20,000
July 31						10,000
September 30					30,000
November 30 					40,000
January 1					20,000
March 31					25,000
Interest on drawings is to be charged @ 9 % p.a. calculate interest on drawings using simple method and product method.




Solution-
Simple method 
On Rs 20,000 for 11 months (May 1 to Mar 31) = 20,000 ×      9    ×  11         =     Rs 1,650
								      100     12
On Rs 10,000 for 8 months (July 31 to Mar 31) = 10,000 ×       9   ×    8          =        Rs 600
								      100      12
On Rs 30,000 for 6 months (Sep 30 to Mar 31) = 30,000  ×         9    ×    6           =     Rs 1,350
								     100       12
On Rs 40,000 for 4 months (Nov 30 to Mar 31) = 40,000   ×      9    ×    4           =     Rs 1,200
								    100        12
On Rs 20,000 for 3 months (Jan 31 to Mar 31) = 20,000 ×       9     ×     3         =        Rs 450
								     100       12
On Rs 25,000 for 0 months (Mar 31 to Mar 31) = 25,000   ×       9     ×    0           =         Rs 00
								     100         12
	Total interest				   	   			         =       5,250
Product Method
	Date
	Amount( Rs)
	 Period (Upto March 31)
	         Product

	May  1
July  31
September  30
November  30
January  1
March  31
	20,000
10,000
30,000
40,000
20,000
25,000
	11
8
6
4
3
0
	20,000 * 11= 2,20,000
10,000 * 8 = 80,000
30,000 * 6 = 1,80,000
40,000 * 4 = 1,60,000
20,000 * 3 = 60,000
25,000 * 0 = 0

	Total
	1,45,000
	
	7,00,000


Interest = Total of Products ×   9    ×   1
				 100     12
	  = 7, 00,000   ×   9   ×   1   =    Rs 5,250
			   100     12
Question 5 (Monthly drawings method) Shivan, Dayan and Sadan were partners is a firm. Drawings made by them during the year are as follows.
	Shivan – Rs 1,500 in the beginning of every month.
	Dayan – Rs 2,000 in the middle of every month.
	Sadan – Rs 1,000 at the end of every month.
Calculate interest on partners’ drawings at 12 % p.a.
Solution 
i. Interest on shivan’s Drawings = Total Drawings    ×     Rate    ×     6.5
    100             12
                                                 = Rs 1,500   ×   12    ×   12   ×   6.5     
	      100        12 
					   = Rs 1,170
ii. Interest on dayan’s Drawings = Total Drawings  ×  Rate   ×   6
100         12
  				= Rs 2,000   × 12    × 12 ×   6   = Rs 1,440.
					                      100    12
iii. Interest on Sadan’s Drawings = Total Drawings  ×  Rate   ×   5.5
 100         12
  				= Rs 1,000 × 12 × 12 × 5.5 = Rs 660.
						     100     12
Question6 (If period is of 6 month) X, Y and Z were partners in a firm. Monthly drawings of same amounts are made by them for the six months ending on 31st March, 2017 are as follows:
i. X Rs 2,000 on 1st of every month.
ii. Y Rs 3,000 on 15th of every month.
iii. Z Rs 4,000 on the last date of every month.
Calculate the interest on partners’ drawings at 9% p.a.
Solution: 
i. Interest on X’s Drawings = Total Drawings × Rate   ×   3.5
  100          12 
= Rs 2,000 × 6 ×  9     ×  3.5  = Rs 315.
		   100       12
ii. Interest on Y’s Drawings = Total Drawings ×   Rate   ×   3
    100        12 
= Rs 3,000 × 6 ×   9    ×   3   = Rs 405.
		      100      12
iii. Interest on Z’s Drawings = Total Drawings  ×  Rate    ×  2.5
    100         12
= Rs 4,000 × 6 ×   9    ×     2.5 = Rs 450.
		      100        12
Question7 (If period is of 9 months) A, B, and C started business on 1st July, 2015. You find that:
i. A drew Rs 8,000 i the beginning of every month for 9 months ending 31st March, 2016.
ii. B drew Rs 8,000 at the end of every month for 9 months ending 31st March, 2016.
iii. C drew Rs 8,000 in the middle of every month for 9 months ending 31st march, 2016.
Calculate interest on drawings @ 10 % p.a.
Solutions: 
i. Interest on A’s Drawings = Total Drawings  ×  Rate   ×    5
    100         12
= Rs 8,000 × 9 ×  10   ×   5    = Rs 3,000.
		    100      12
ii. Interest on B’s Drawings = Total Drawings ×  Rate   ×   4
   100        12
= Rs 8,000 × 9 ×  10    ×   4  = Rs 2,400.
		    100       12

iii. Interest on C’s Drawings = Total Drawings ×  Rate  ×  4.5
   100       12
= Rs 8,000 × 9 ×  10   ×   4.5  = Rs 2,700.
		   100        12

Question8: (Quarterly drawing method) Manish, Mahak and Mohan were partners in a firm. The partnership deed provided that interest on drawings will be charged @ 6% p.a. During the year ended 31.03.2017 Mahesh withdraws Rs 6,000 in the beginning of each quarter, Mahak withdraw Rs 6,000 in the middle of each quarter, and Mohan withdraw Rs 6,000 in the end of each quarter. Calculate interest on the partners’ drawings.

Solution 
i. Interest on Manish drawings = Total Drawings  ×  Rate   ×   7.5
            100  	   12
                                   	= Rs 6,000 × 4 ×  6    ×   7.5   = Rs 900
						    100      12
ii. Interest on Mahak’s drawings = Total Drawings ×  Rate   ×    6
100          12
= Rs 6,000  ×  4 × 6      ×    6 = Rs 720
 		    100	       12
iii. Interest on Mohan’s drawings = Total Drawings ×  Rate   ×    4.5
100 	     12
                                  	 = Rs 6,000 × 4 ×  6   ×     4.5    = Rs 540
						    100	      12
Question9 (Half yearly drawings method) Payal and Kriti were partners in a firm. The partnership deed provided that interest on drawings will be charged @ 9% p.a. during the year ended 31.03. 2019, Payal withdraw Rs 60,000 in the beginning of each half year and Kirti withdraw Rs 90,000 at the end of each half year. Find out interest on partners drawings. 
Solution.
i. Interest on Payal’s drawings = Total Drawings  ×   Rate     ×   6
100          12
                                   	= Rs 60,000 × 2 ×   9   ×    6   = Rs 5,400
						       100     12
ii. Interest on Kirti’s drawings = Total Drawings  × Rate   ×     3
         100 	 12
                                   	= Rs 90,000 × 2   ×   9    ×    3   = Rs 4,050
					         100       12
WORK SHEET – 4
Do the following questions (Based on questions solved above)
Question 1 Anand,  Mehta and Prakash three partners draw for private use Rs 72,000,  Rs 60,000 and Rs 48,000 during  the year 2015-16. Interest is charged @ 10% p.a. what will be the amount of interest ?  
[ Ans. Interest on drawings : Rs 3,600 , Rs 3,000 and Rs 2,400 respectively ]
Question 2 Anubhav and Deepu are two partners sharing profits in the ratio of 5 : 3 . The drawings of  Anubhav and deepu during 2012 – 13 were Rs 60,000 and Rs 40,000 respectively. Interest is charged at on average rate of 4% on drawings. Calculate the amount of interest on drawings.
[ Ans. Interest on Drawings: Anubhav Rs 2,400 and Deepu  Rs 1,600 ]

Question 3 A is a partner in a firm. For the year ending 31.3.2019, A’s drawings were:
                                                       					  Rs    
 		1st June 						1,000
1st August     						    750
 		1st October 						1,250
		1st December  						    500
		1st February 						    500
Interest on drawings is charged @ 10 % p.a. Calculate interest on drawings of a using product method.
[ Ans. Interest on A’s drawings = Rs 26,500 × 10 \ 100 × 1\12 = Rs 220.83 ]
Question 4 X, Y and Z are partners in a firm. You are informed that:
i. X draws Rs 4,000 from the firm at the beginning of every month, 
ii. Y draws Rs 4,000 from the firm at the end of  every month,
iii. Z draws Rs 4,000 from the fir in the middle of every month.
Interest on drawings is to be charged @ 9 % p.a. Calculate interest on partner’s drawings.
[  Ans. Interest on drawings : X Rs 2,340; Y Rs 1,980 and Z Rs 2,160 ]
Question 5 Arvind and Atul are two partners in a firm. Arvind drew regularly Rs 4,000 at the begining of every month and Atul drew regularly Rs 4,000 at the last day of every month for six months ending on 31st march, 2019. Calculate interest on drawing at 12 % p.a.
[ Ans. Interest on drawing: Arvind Rs 840 and Atul Rs 600 ]
Question 6 A, B and C are partners in a firm. For six month ending 31st march, 2016: 
A drew regularly Rs 15,000 in the beginning of every month. B drew regularly Rs 20,000 at the end of every month and C drew regularly Rs 25,000 in the middle of every month.
Calculate interest on drawings @ 10 % p.a. for six month ending 31st march, 2016.
[ Ans. Interest on drawings: A Rs 2,625 ; B Rs 2,500 and C Rs 3,750 ] 
Question 7 Amita, Babita and Chunoti commenced business in partnership on 1st July, 2015. You find that:
i. Amita withdraw Rs 6,000 in the beginning of every month for 9 months ending 31st March 2016.
ii. Babita withdraw Rs 8,000 at the end of every month for 9 months ending 31st March, 2016.
iii. Chunoti withdraw Rs 10,000 at the middle of every month for 9 months ending 31st March, 2016.   Calculate interest on drawings @ 12% p.a.
    [ Ans. Interest on drawings: (1) Rs 2,700 (2) Rs 2,880 (3) Rs 4,050 ]
Question8 Anand, Kushi and Prakash are partners in a firm. The partnership deed provided that interest on drawing will be charged @ 8% p.a. During the year ended on March 31, 2018, Anand withdraw Rs 5,000 in the beginning of each quarter, Kushi withdraw Rs 4,000 in the middle of each quarter and Prakash withdraw Rs 3,000 at the end of each quarter. Calculate interest on partners drawings.
[Ans. Interest on drawings: Anand Rs 1,000, Kushi Rs 640 and Prakash Rs 360 ]
Question 9 Calculate the interest on Vishal’s drawings:
i. If he has withdrawn Rs 40,000 during the year at the beginning of each half year and interest on drawings is charged @ 10 % p.a.
ii. If he has withdrawn Rs 40,000 during the year at end of each half year and interest on drawings is charged @ 10 % p.a.
iii. [Ans. Interest on drawing: (1) Rs 4,000 (2) Rs 2,000. ]
Question 10 Calculate interest on drawing @ 6 % p.a. in the following case:
i. Rs 2,000 are drawn on 1st day of every month during the year.
ii. RS 2,000 are drawn on the last day of every month during the year.
iii. Rs 2,000 are drawn in the middle of every month during the year. 
iv. Rs 2,000 are drawn on quarterly basis on first day of each quarter.
v. Rs 24,000 are drawn during the year.
[Ans. (1) Rs 780, 	(2) Rs 660, 	(3) Rs 720, 	(4) Rs 300,	 (5) Rs 720]

Note – Please do all this work in your Note Book which will be checked when school will re-open. Please consider this important.


						

